2 C) 4 B % T
= I s £ E T 2 L -
S . £ s T2 £ =
5 . o o 53 3 8 2T S 2§ E PSP >y XS 3
= ® ° k] a 3 F €T = = 52 5§ 28 3§ 2538 =288 s < 8 S
5 3 3 2 8 = 3 s S = 8 a £ ) E S 9 7 3z 4 =8 2 2
o S £ ) o a = 3 < > o & ° & 2 £ @ & 8B g o 2 A& 35t 5 o
> = ® H v o o Z £ @ 9 ¢ & 2 ¥ ¢ g T g T £ w 3 = EF 2 & =
© - o et > [§) > a o © - [] c 7] [ « W ® 2 D = 4 8 » ©
£ 3 o} S5 w g %9 & v 8 8 & 4§ @ E S g ¢ > 8 9 &
z = z 4 3 = 58 2% & - o A

= = 3 3 g & 9

-

2017 FRESNO_LOW_water 36.339804 -120.119237 TRITICALE TRITICALE NS TRICAL 115T 3170 6456 270 64 1 98 08 5 60.7 - 28 - - - - - - -
2017 FRESNO_LOW_water 36.339804 -120.119237 TRITICALE TRITICALE NS 10750020 3178 6244 202 6.4 2 11.2 04 1 59 - 28 - - - - - - - - -
2017 FRESNO_LOW_water 36.339804 -120.119237 TRITICALE TRITICALE AGS 133 3182 6031 116 64 3 91 08 9 609 - 29 - - - - - - - - - -
2017 FRESNO_LOW_water 36.339804 -120.119237 TRITICALE TRITICALE NS TRICAL 158EP 3169 6001 362 64 4 94 09 8 606 - 30 - - - - - - - - - -
2017 FRESNO_LOW_water 36.339804 -120.119237 TRITICALE TRITICALE AGS 230 3181 5869 573 64 5 99 14 4 619 - 30 - - - - - - - - - -
2017 FRESNO_LOW_water 36.339804 -120.119237 TRITICALE TRITICALE NSTRICAL105 3097 5835 562 64 6 9.7 02 7 612 - 29 - - - - - - - - - -
2017 FRESNO_LOW_water 36.339804 -120.119237 TRITICALE TRITICALE NS 12701486 3180 5640 324 64 7 9.7 07 6 583 - 30 - - - - - - - - - -
2017 FRESNO_LOW_water 36.339804 -120.119237 TRITICALE TRITICALE WBPACHECO 3164 5486 442 64 8 105 11 3 60.7 - 36 - - - - - - - - - -
2017 FRESNO_LOW_water 36.339804 -120.119237 TRITICALE TRITICALE NS CAMELOT 3168 5238 534 64 9 11 11 2 582 - 31 - - - - - - - - - -




